.

=N
==X
i Bl M 5 X L
BFEI | BRE-£F | 2 -3

I
(e

B [

fk

BT E3468E4

A AlIEmEER 1091.4 1,091

RIS &R 185m X XD E0.5m 93

HAGEEER 1303.1+148.0 1,451
INET 2,635

BTE111E4
BPEE118F (M BAEXER)

EPEE118E(IARTERXEZR)

x L=1145m 1145m X XJHE1.0m X 65% 744

A L=1145m 1145m X XJHE1.0m X 65% 744

INET 1,488
=) B (1[EH) 4123
= 4,120

=| 4120

A EERT 4120 X 0.65 = 2,678




% & # B =

T M@ T T B S % &
EBRBRET | RE-£5 | A ER i
ATi&34685 4

EAAEER 1091.4 1,091 im

B TS &R 185m X X VIiF0.5m 93 m

HRLEEED 1303.1+148.0 1,451 im

INEt 2,635 imd
BT 11124 i
BP.EE1185 (MBEAXRER)
EPEE1188 (LERTEBRER)

£ L=1145m 1145m X XJE1.0m X 65% 744 i

A L=1145m 1145m X XWE1.0m X 65% 744 imi

INE 1488 |
BT5824592 48 (1A A FET1& 15 ~ N R Z4E) §
BP AFEISH
FW I ACE L TVE: )

% L=83.0m 83.0m X AHg1.0m X 95% 78 ind

A L=178.0m 178.0m X XU 1.0m X 80% 142 ind

INE 220 im
& k (2EH) 4343 |

=| 4340 m
=| 4340 |

EAE A 4340 X 0.65 = 2,821 kg




# B O%
T P P Al = = o=
EBRRET | RE-£2 ‘
BT E 3468245
EREEER 1091.4 1,091
RIS &R 185m X XD E0.5m 93
EAIEEER 1303.1+148.0 1,451
INET 2,635
BTE11158 (SENYIAHA)
BPEE118F (M BAEXER)
EPEE118E(IARTERXEZR)
x L=1145m 1145m X XJHE1.0m X 65% 744
A L=1145m 1145m X XJHE1.0m X 65% 744
INET 1,488
=) B 4123
= 4,120
=| 4120
A EERT 4120 X 0.65 = 2,678




